oYl 5a>4ll (1o inheritance of patterns Complex uolsd] ) il o alis]

asil L)) Zalial) 2Bge (3o alad) Ja0 Juaxi ol

cala)) = degiie lils 62 oYl Jatl) = pole 5 paiial] pie ol Cadd) e 8l LY meliad) < zaliad) 2Bse

22:47:33 2025-10-09 : zolial] gge sle Cilall dla) b

Jac Gyl | caiggn e s se | Jol T enl i) i g iS31 ellis) | gl S | adrald S | lide 8ale (1o aujall
oeneld | Slgd) Glaia¥ T Agug ol Sae | ity colasde | s jdaol mpie eele

Gelgel Omar :alac|

paiial] jic S Caall Crasy e laixVl ol il

@QL’\.«” d>xa0
@ Sle al LYl

\ ¥ AH_Q

&l dald) i yad] dxll) dre M) gy il elals (e algal]

Jod) Jeaid] (48 pole Baladly paiiall pie () Caall oy laladl (o A el

& pad) &) jellg Baiaal] &) jg)) 8ax>g oxleg 7y 1

gl JSagd) B399 (s il Zz3ged U 2

sl JSugd) 389 (e JLis) Z3ga0 3

alis] e Baimally &y pil) &gl (JgYl Baxg) daxl pe o 4
Bairally & pdl )5l (I3 85l (e g Jod) G a) drl yo S 5



https://t.me/ae_news
https://almanahj.com/ae/id=36026
https://almanahj.com/ae/id=36026
https://almanahj.com/ae/15science1/misc
https://almanahj.com/ae/15science1
https://almanahj.com/ae/15science
https://almanahj.com/ae/15
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2025-10-09
https://almanahj.com/ae/15science1/sheets
https://almanahj.com/ae/15science1/slides
https://almanahj.com/ae/15science1/keys
https://almanahj.com/ae/15science1/exams
https://almanahj.com/ae/15science1/quizzes
https://almanahj.com/ae/15science1/book
https://almanahj.com/ae/15science1/guide
https://almanahj.com/ae/15science1/files
https://almanahj.com/ae/15science1/files
https://almanahj.com/ae/15science1/final
https://almanahj.com/ae/15science1/notes
https://almanahj.com/ae/15science1/reports
https://almanahj.com/ae/15science1/english
https://almanahj.com/ae/15science1
https://almanahj.com/ae/15science1
https://almanahj.com/ae/teacher_id=2635
https://almanahj.com/ae/network15
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade15uae
https://www.facebook.com/grade15uae
https://almanahj.com/s/3771d1
https://t.me/almanahj_bot
https://facebook.com/almanahjae
https://facebook.com/almanahjae
https://facebook.com/almanahjae
https://almanahj.com/s/88929a
https://almanahj.com/s/6b730c
https://almanahj.com/s/b0a22b
https://almanahj.com/s/872e8e
https://t.me/ae_news
https://almanahj.com/ae/15science1
https://almanahj.com/ae/id=35711
https://almanahj.com/ae/id=29951
https://almanahj.com/ae/id=29950
https://almanahj.com/ae/id=29923
https://almanahj.com/ae/id=29921
http://www.tcpdf.org

-4

GRADE 12 ADV
unitl Lesson 5 : Complex patterns of inheritance
Dr. Omar Gelgel , contact : 0501348665

-—
- 4 :
@ = | s L. 3 =
: ;
B =y - e e AL =
. -~ = | — S A.. %
— o ~ N e
NN
< _{ . ‘\;
o :‘_
I, -~
- "



In codominance, which of the following outcomes is observed in the heterozygous state?

N\ . , N/ —

o A Gomplete dominance of one allele over thg\ﬁ?her o
(l§< , \f( O -

g??'“ ‘ ] . y;‘&“ ?9“ _..,:4‘
% B.Intermediate blending of traits N -
S o a—

o (. Both alleles are fully expressed simultaneously LEe




individuals?
e A Mendelian dominance
r<<
%\ Codominance

°Q t Incomplete dominance

D. Sex-linked inheritance

N

o
o \ ®
 § 3
W
" Nuo
o~ <

< & <
Q In the context of epistasis, which geno%/pe combination would result in a yellov&‘Labrador

retriever?
e A.Eebb
e B.eeB_
e C. EeBb
Eep




A woman with type AB blood has a child with a man with type O blood. What are the possible
blood types of the child?

e A.ABonly

e B.Aand B onl &> S~
& 4 < K =
N\ =g
e« “C/A B and O X X .
\§ D. AB and O only \é& \<< —
‘ Q) {J\;\«; ,.&. -
<>Q- Dosage compensation, a process that bg(éﬁces gene expression between sexes, invz&é& which -
) \ ]
mechanism in mammals? o
- ‘Vh. ‘. :

e A. Autosomal gene silencing

e B. X-inactivation in females

C. Y-inactivation in males



a cross between two plants with incomplete dominance results in 25% red, 50% pink, and 25%

hite offspring, what are the genotypes of the parents?

e A. Both parents are heterozygous

L N

A. Polygenic and codominant

B. Multiple alleles and codominance

C. Epistasis and incomplete dominance

A
Q}<Multile alleles and Mendelian dominance
- - - : . gl AV i “ £ T
RSe Jiid VRO IIITII O] Sa A ISV S . \/ -

/ -



What phenotype results in a calico cat due to X-inactivation?

e A. Uniform color based on the maternal X chromosome

e B. Mosaic color patterns from inactivated X chromosomes

= N AR
2 <& o
Q\\% Color patterns based on the pa érnal X chromosome | & X
K
‘“ {’ {w’k -
e D. Color determined solely by xﬁe dominant allele & 5
Q | ® g o o {*\ ,.&’.\ :
~ | How is hemophilia inherited? L O
Q“ << *\S%‘ LTV -
) Q O
== : A. Autosomal dominant Lk

B. Autosomal recessive
C. X-linked recessive

9\, Y-linked dominant

TERTNTATSARTEATE



1 Which genotype must an individual have to display the albino phenotype?
* A Homozygous dominant

e B. Homozygous recessive

- " O\ -
“ | + cHeterozygous dominant X &
o2 < B
_&" D. Heterozygous recessive
.‘v
OQ. ATV
== <

A. Full color
B. Himalayan

C. AIbino

<& o>
. \D Chinchilla C




\/

The presence of a Barr body in a cell indicates:

A. The individual is male

B. X-inactivation has occurred =
= /“(/\ &> @/ -
(s C. The individual is heterozygous for a trait %jb 5
N K4 <
| = D.Autosomal inheritance is‘involved o -
OQ-» - 1| Which of the following besg:gdescribes polygenic inheritance? QQ» v
—— A. A single gene affects multiple traits s

B. Multiple genes contribute to a single trait

C. An interaction where one gene masks another
\¢ (<\
e D. Both alleles are equally expressed



Which statement best describes epistasis?

e A. It occurs when one allele changes another allele’'s genotype

e B. It involves a gene that masks the expressuon of another gene

- Q\' /\< %\/“\:—

((0\ C. It results in blending of two 9<h\enotypes ¢ = ¥
¢ .
I ¢ D. It only occurs in sex- Imkeg@trauts \»~Q _—
Qw \ /’*X"'“ R

OQ.; In rabbits, which genotype wggt.ﬂd result in an albino phenotype?Q‘ e—
=] - AC"C S

B. cc
Y Big B
/\D. Ccrch




How does the environment play a role in polygenic traits like skin color?

e A.lt changes the genotype directly

e B. Itinfluences the phenotype expression of multiple genes

O & -
. C.%;\Has no impact on genetically determinethfa“i'ts ¢ =5

e “D. It determines the alleles an individual inRerits & N

¢ Xl\\ \’}\ / ‘)"\\ " b -

If'a person has type A blood and is knownd;éa’be heterozygous, what are the possible Q[‘obd

) ; ; . . Y, -
types of their children if the other parent<has type O blood? =

— %" c e

A. A and B only

B. A and O only

o C AB//Qnd A only

Q@gnd B only




hich genetic disorder is more common in males due to its inheritance pattern?

A. Cystic fibrosis

e B. Hemophilia

S &> O\
0N . ~X
e C.Tay-Sachs disease O
@ D. Huntington’s disease R

L N

Q—»{} hich genetic concept helps explain why so%'ﬁé traits appear more frequently in identical twins.’
Q ompared to non-identical twins? Q S

A. Polygenic inheritance

B. Environmental influence

C. Mendelian dominance

L\ : . o
D{Eenetuc predisposition

AX N b



